D1vISION WITH A REMAINDER II (H - SET 2)

DIVISION WITH 10 Name:
Time: Score: y—

296 =10 = 16 7175 + 10 =
2 3683 + 10 = 113900 + 10 =
3 9104 = 10 = 15 5708 =10 =
4 1376 + 10 = 19 3183 + 10 =
5 7801 =+ 10 = 20 7046 + 10 =
6 2644 + 10 = 2 1009 = 10 =
07737+ 10 = 22) 953 + 10 =
9 7502 + 10 = 23 5086 + 10 =
0 7074+ 10 = 2430 + 10 =
1001209 = 10 = 2 6091 + 10 =
1) 4403 = 10 = 260 3017 =10 =
12) 9523 + 10 = 1) 2928 + 10 =
13) 3974 + 10 = 28) 6308 + 10 =
1) 8556 + 10 = 29) 5822 + 10 =
15 1745 + 10 = 302042 + 10 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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